

Work Pack

Stanbo Records Name:			Name:				7		
Multiplication				Mult	iplica	ition &	Division P	uzzle	
Grade 5 Worksheet		Stambo Resources		Color the boxes with correct answers and cross out boxes with incorrect answers. Each row has a word. Unscramble the letters in each row to find the word.					
Solve the equat	ions.	Multiplication		E	Н		G	R]
1. 475	2 2/2 2	Solve the equation.		66 x 74 =		87 =	64 × 35 =	19 × 34 =	
x 28	Stambo Resources	1. 62 x 89 =	Multip	4484	304		10/17	414	
	Division	2. 48 x 76 =	Name: 67 × 54 =	D 318 ÷ 6 = 6	D 489	٨	Nultiplicat	ion & Divi	
	Grade 5 Workshe	3. 29 x 55 =			122		•	•	ons is worth 1 mark
5. 475	Solve the equation	4. 36 × 56 =	Name:	I	Р	1.	82 x 25 =	6. 87	78 ÷ 4 =
<u>x 56</u>		5. 18 × 57 =	98 × 74 =	44 x 83 = 3652	248	2.	47 × 63 =	7. 49	95 ÷ 6 =
	1. 6)728		Name:			3.	52 × 28 =	8. 32	22 ÷ 8 =
	·	Slambo Resources	36 × 46 =	774 ÷ 5 =	Q 287		76 × 18 =	0 45	73 ÷ 4 =
			 Name:	457	13.5				
9. 439	4. 5) 754	Division	14 × 45 =	Τ	A	5.	19 × 19 =	10. 99	93 ÷ 6 =
<u>x 66</u>	4. 3/ /34	Solve the equation. F_	Name:	52 x 33 =	81 >	Answ	er the questio	ons carefully.	
		1. 547 ÷ 8 =		2714	215				ach tray holds 24
		2. 893 ÷ 6 =	25 × 56 =					w many cup ca	kes can she bake _(2 marks)
	7. 9 357	3 847 ÷ 4 =	Name:	Answer:		12	Pedro earns	52418 a month	. How much does
2020 Slambo Resources		4. 328 ÷ 7 =	37 × 54 =	A 2020 Slambo Barourcas					(2 marks)
			Name:	v 2020 Sidilipo Resoul ces	Nan	13	Tickets to a s	show cost \$44	for adults and
		5. 195 ÷ 6 =	44 × 82 =		476		\$23 for child	lren. How much	did a family with
Slambo	10. 8)749	© 2020 Slambo Resources	 Name:				4 adults and 9	9 children pay?	(3 marks)
Resource					Nan				nt 5 cars to start
502 000 000 000 000 000 000 000 000 000		_	57 × 79 = 		337 ——			iness. The cars olit the cost. H	cost \$4200 ow much did each
				!				(3 r	

Grade 5 Worksheet Solve the equations.

_	4



Name:

Division

Grade 5 Worksheet

Solve the equations. Round to decimal places when needed.

4. 5) 754 \$\frac{1}{5}\text{r6}\text{93@W} 6. 4)827

Worksheets 1

Solve the equation.

10. 98 × 45 =





Name:

Division

Worksheets 2

Solve the equation. Round to 2 decimal places.

Multiplication & Division - Exit Tickets				
Name:		Name:		
67 × 54 =		 663 ÷ 8 =		
Name:		Name:		
98 × 74 =		758 ÷ 9 =		
Name:		Name:		
36 × 46 =		317 ÷ 6 =		
Name:		Name:		
14 × 45 =	<u> Prev</u>	/i&26v ^j 5 =		
Name:		Name:		
25 × 56 =	- <u>-</u>	439 ÷ 7 =		
Name:		Name:		
37 × 54 =		285 ÷ 9 =		
Name:		Name:		
44 × 82 =		476 ÷ 5 =		
Name:		Name:		

337 ÷ 6 = ____

57 x 79 = ____

Name: _____

Multiplication & Division Puzzle

Color the boxes with correct answers and cross out boxes with incorrect answers. Each row has a word. Unscramble the letters in each row to find the word.

E	Н	G	R
66 x 74 =	35 × 87 =	64 × 35 =	19 × 34 =
4484	3045	1847	646
D	D	E	A
318 ÷ 6 = 6	489 ÷ 4 =	849 ÷ 3 = 68	924 ÷ 6 = 154
	122.25		
I	PPIEV	sew	0
44 × 83 =	14 x 13 =	90 x 32 =	28 × 34 =
3652	2484	3136	7458
L	Q	Т	A
774 ÷ 5 =	287 ÷ 4 =	667 ÷ 6 =	574 ÷ 8 =
457	13.5	21.15	71.75
Т	A	C	Z
52 x 33 =	81 × 63 =	14 × 14 =	64 × 24 =
2714	2154	1245	1536

Answer:

Name: _____

/20

Multiplication & Division Test

Answer the questions. Each questions is worth 1 mark.

Answer the questions control []

- 11. Mary has 19 baking trays. Fach tray holds 24 cup cakes. How many cup cakes can she bake at once? (2 marks)
- 12. Pedro earns \$2418 a month. How much does he earn per week? _____(2 marks)
- 13. Tickets to a show cost \$44 for adults and \$23 for children. How much did a family with 4 adults and 9 children pay? _____(3 marks)
- 14. A group of 16 friends bought 5 cars to start their car business. The cars cost \$4200 each. They split the cost. How much did each person pay? _____(3 marks)



Grade 5 Worksheet Solve the equations.



Division

Grade 5 Worksheet

Solve the equations. Round to decimal places when needed.



Worksheets 1

Solve the equation.

$$1.62 \times 89 = 5518$$

$$6.77 \times 82 = 6314$$

$$2.48 \times 76 = 3648$$

$$7.49 \times 93 = 4557$$

$$3.29 \times 55 = 1595$$

$$8.68 \times 37 = 2516$$

$$4.36 \times 56 = 2016$$

$$9.45 \times 28 = 1260$$

10. 98 × 45 = 4508 Preview



Name: ____

Division

Worksheets 2

Solve the equation. Round to 2 decimal places.

1.
$$547 \div 8 = 68.38$$

$$6.263 \div 9 = 29.22$$

$$2.893 \div 6 = 148.83$$

$$7.479 \div 7 = 68.43$$

$$3.847 \div 4 = 211.75$$

8.
$$258 \div 6 = 43$$

$$4.328 \div 7 = 46.86$$

9.
$$443 \div 8 = 55.38$$

$$5.195 \div 6 = 32.5$$

10.
$$968 \div 5 = 193.6$$

Multiplication & Division -	Exit Tickets - Answers			
Name:	Name:			
67 × 54 = 3618	 663 ÷ 8 = <mark>82.88</mark>			
Name:	Name:			
98 × 74 = 7252	758 ÷ 9 = 84.22			
Name:	Name:			
36 × 46 = 1656	317 ÷ 6 = 52.83			
Name:	Neme:			
14 × 45 = 630 Pre	Vie26v 5 = 165.2			
Name:	Name:			
25 × 56 = 1400	439 ÷ 7 = 62.71			
Name:	Name:			
37 x 54 = 1998	285 ÷ 9 = 31.67			
Name:	Name:			
44 x 82 = 36 <mark>08</mark>	476 ÷ 5 = 95.2			
Name:	Name:			
57 x 79 = 4503	337 ÷ 6 = 56.17			
	•			

Name:

Multiplication & Division Puzzle

Color the boxes with correct answers and cross out boxes with incorrect answers. Each row has a word. Unscramble the letters in each row to find the word.

E	Н	8	R
66 × 74 =	35 × 87 =	64 × 35 =	19 × 34 =
4484	3045	1847	646
D	D	E /	A
318 ÷ 6 = 6	489 ÷ 4 =	849 - 3 - 68	924 ÷ 6 = 154
	122.25 Drov		
I		S	8
44 × 83 =	14 X IX-	96 x 32 =	28 x 34 =
3652	2484	3136	7458
	Ø.	7	A
774 - 5 =	287 - 4 =	667 - 6-	574 ÷ 8 =
457	13.5	21.15	71.75
T	A	C	X /
52 × 33 =	81 × 63 =	14 × 14 =	64 × 84 =
2714	2154	1245	1536

Answer: HER DAD IS A CAT

/20

Multiplication & Division Test

Answer the questions. Each questions is worth 1 mark.

1.
$$82 \times 25 = 2050$$

6.
$$878 \div 4 = 219.5$$

2.
$$47 \times 63 = 2961$$

7.
$$495 \div 6 = 82.5$$

3.
$$52 \times 28 = 1456$$

8.
$$322 \div 8 = 40.25$$

4.
$$76 \times 18 = 1368$$

9.
$$473 \div 4 = 118.25$$

5.
$$19 \times 19 = 361$$

$$10.993 - 6 = 165.5$$

Answer the questions continued to the property of the property

- 11. Mary has 19 baking trays. Fach tray holds 24 cup cakes. How many cup cakes can she bake at once? 456 cupcakes. (2 marks)
- 12. Pedro earns \$2418 a month. How much does he earn per week? \$604.50. (2 marks)
- 13. Tickets to a show cost \$44 for adults and \$23 for children. How much did a family with 4 adults and 9 children pay? \$383. (3 marks)
- 14. A group of 16 friends bought 5 cars to start their car business. The cars cost \$4200 each. They split the cost. How much did each person pay? \$1312.50. (3 marks)